

Uttryck z'_x och z'_y med hjälp av z'_u och z'_v (och ev. x och y) om

$$\begin{cases} u = xy, \\ v = x - y. \end{cases}$$

$$u = xy, v = x - y$$

$$u = xy, v = x - y$$

$$z'_x = \frac{\partial z}{\partial x}$$

$$u = xy, v = x - y$$

$$z'_x = \frac{\partial z}{\partial x} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial x}$$

$$u = xy, v = x - y$$

$$\begin{aligned} z'_x &= \frac{\partial z}{\partial x} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial x} \\ &= y \frac{\partial z}{\partial u} + \frac{\partial z}{\partial v} \end{aligned}$$

$$u = xy, v = x - y$$

$$\begin{aligned} z'_x &= \frac{\partial z}{\partial x} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial x} \\ &= y \frac{\partial z}{\partial u} + \frac{\partial z}{\partial v} = yz'_u + z'_v. \end{aligned}$$

$$u = xy, v = x - y$$

$$z'_x = \frac{\partial z}{\partial x} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial x}$$

$$= y \frac{\partial z}{\partial u} + \frac{\partial z}{\partial v} = yz'_u + z'_v.$$

$$z'_y = \frac{\partial z}{\partial y}$$

$$u = xy, v = x - y$$

$$z'_x = \frac{\partial z}{\partial x} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial x}$$

$$= y \frac{\partial z}{\partial u} + \frac{\partial z}{\partial v} = yz'_u + z'_v.$$

$$z'_y = \frac{\partial z}{\partial y} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial y}$$

$$u = xy, v = x - y$$

$$z'_x = \frac{\partial z}{\partial x} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial x}$$

$$= y \frac{\partial z}{\partial u} + \frac{\partial z}{\partial v} = yz'_u + z'_v.$$

$$z'_y = \frac{\partial z}{\partial y} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial y}$$

$$= x \frac{\partial z}{\partial u} - \frac{\partial z}{\partial v}$$

$$u = xy, v = x - y$$

$$z'_x = \frac{\partial z}{\partial x} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial x} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial x}$$

$$= y \frac{\partial z}{\partial u} + \frac{\partial z}{\partial v} = yz'_u + z'_v.$$

$$z'_y = \frac{\partial z}{\partial y} = \frac{\partial z}{\partial u} \frac{\partial u}{\partial y} + \frac{\partial z}{\partial v} \frac{\partial v}{\partial y}$$

$$= x \frac{\partial z}{\partial u} - \frac{\partial z}{\partial v} = xz'_u - z'_v.$$